
ACTIVITY – 2 

Q-1. Convert into paise :  

a) Rs 15.00  

Rs 1  = 100 paise  

Rs 15 = 15 x 100 = 1500 paise  

b) Rs 58 .50  

Rs 1 = 100 paise  

 Rs 58 = 58 x 100 = 5800 

   +    50 

     5850 

c) Rs 72 .25  

Rs 1 = 100 paise  

 Rs 72 = 72 x 100 = 7200 

   +    25 

     7225 paise  

d) Rs 102 . 00 

Rs 1 = 100 paise  

 Rs 102 = 102 x 100 = 10200 paise  

e) Rs 124 .25 

Rs 1 = 100 paise  

 Rs 124 = 124 x 100 = 12400 

           +   25   

          12425 paise 

Q-2. Convert into rupees – 

a) 725 paise  

100 p = Rs 1 

725 p = 725 ÷ 100 = Rs 7.25 

b) 3800 paise  

100 p = Rs 1 

3800 p = 3800 ÷ 100 = Rs 38.00 

c) 3550 paise  

100 p = Rs 1 



3550 p = 3550 ÷ 100 = Rs 35.50 

 

d) 4250 paise  

100 p = Rs 1 

4250 p = 4250 ÷ 100 = Rs 42.50 

e) 78 rupees 50 paise = Rs 78.50 

g). 10250 paise  

100 p = Rs 1 

10250 p = 10250 ÷ 100 = Rs 102.50 

 


